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Saint Joseph’s Convent
School, Moga. Answer
key of Chapter 7- (
Acids, Bases and Salts)

Short Answer
Questions

A.1 An Acid is a
compound
containing hydrogen
atoms which can be




wholly or Partially
replaced by Metal
atom or positive
radicals.

A.2. Two Iinorganic
acids-hydrochloric
acid, Nitric acid
Two organic Acids-
Acetic acid, Citric
acid.




A.3.a) Base
b) Salt

c) Acid
d) Acid
e) Salt
f) Base

A. 4.Bases are usually
the oxides and
hydroxides of metals.



They react with acids to
form salt and water.

A. 5.Neutralisation
Reaction.

A. 6.Acid -Base
Indicator.

A. 7.By dipping the red
litmus paper in Basic
solution.



A. 8.Turmeric powder.
A. 9. Toothpaste
A. 10. Lower than 7
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? Objective Questions

Choose the correct Option

1. Which of the follow;
WINg compounds is
(@) Na,0 i
Lo (b) FeO
' (d) Ca(OH),
2. Which of the following is not a b i
(a) Potassium hydroxide
(b) Calcium hydroxide
(c) Copper oxide

7 Sodium chioride

3. Whi : |
ch of the following compounds will react with hydrochloric acid to form a salt and water?

an acid?

ase?

(a) Sodium Sulphate

(b) Sulphuric acid
V(zf Sodium hydroxide
(d) Calcium chloride
4. With which of the following compounds in solution will phenolphthalein give a pink colour?
\/(dﬂ“xmmonium hydroxide (b) Hydrochloric acid
(c) Water (d) Sulphuric acid
5. The pH of pure water is
(a) 0.0 (b) 1.0
‘(}))7 0 (d) 14.0
Fill in the blanks.

with a carbonate to Ve .oveee gas. (carbm)xide/ hydrogen)

1. An acid reacts
led alkalis. (Soluble/ Insoluble)

2. ... bases are cal
and water. (aci/d /base/ seﬂﬁ

v A
3. An alkali reacts with a/ an@ to give a fall s



4. Complete the following table,

Indicator Solution Colour

Litmus Lemon juice »?W M
Litmus Ammonium hydroxide TW Bluce
Phenolphthalein Ammonium hydroxide Pinh

Phenolphthalein Hydrochloric acid W
Turmeric juice Soap solution W,\ & M

Turmeric juice Orange juice aﬂu" W
Red-cabbage juice Soap solution cvlm
Red-cabbage juice Hydrochloric acid Red

Write T" for true and ‘F* for false for the following statements.
1. The hydrogen of an acid can be replaced by a negative radical, F
2. Acids taste sour. T
3. All bases are alkalis, but all alkalis are not bases,

4. Acid-base indicators give different colours with acids and bases. T

5. The pH of tomato juice is higher than 7. F






SAINT JOSEPH'S CONVENT
SCHOOL, MOGA

CLASS-7,ANSWER KEY OF
CHAPTER-2(PHYSICAL AND
CHEMICAL CHANGES)

SHORT QUESTION ANSWERS

Ans-7 A change in which
heat is absorbed is called
endothermic change.

Ans-8 A change in which
heat is evolved is called an
exothermic change.

Edit with WPS Office



LONG ANSWER QUESTIONS

Ans-1 1) When carbon is
burnt in air the mass of
carbon burnt plus that of
oxygen taken from the air is
same as the mass of carbon
dioxide formed.

I1) During Rusting of iron, the
mass of iron gained in
rusting is the same as the
mass of oxygen lost by air.

Edit with WPS Office



Ans-2

Physical change

I Aphysical change 1s
temporary.

2. A physical change is
reversible.

3. No new substances
are formed in a
physical change.

4. Inaphysical change,
the mass of the
substance does not
change.

Chemical change

A chemical change is
permanent.

A chemical change is
irreversible.

New substances are
formed in a chemical
change.

The mass of the
individual substance(s)
undergoing a chemical
change is altered.

Edit with WPS Office



Ans-3

The burning of a candle involves 2 physical as well as
a chemical change.

L. The wax under the wick gets heated and
melts. The molten wax flows down and
solidifies. The changes in state from solid
to liquid and again from liquid to solid
are physical changes.

2. A part of the molten wax vaporises and
burns to form new substances—carbon

dioxide and water vapour. This change is
irreversible.

Go, the burning of wax is a chemical
change.

V74 Edit with WPS Office



Ans-4

Examples of energy change in a physical change

Changes in state - Energy changes are observed
during a change in state. A solid has to be
heated in order to melt. In other words, a solid
absorbs heat in order to melt, For example, ice,
sulphur, iron, etc, absorb heat in order to melt

otmilarly, a liquid absorbs heat in order to
change into vapour.

On being cooled, gases and vapours form
liquids. Heat is given out in these processes.

Vv | Edit with WPS Office



Examples of energy change in a chemical change

All chemical changesinvolvea change nenergy.

Burning When coal or wood is burnt, both
heat and light are emitted. Burning i an
exothermic process.

Ans-5

Respiration When we respire, the oxygen
of the air we breathe in combines with the
glucose formed by the degradation of food
in our bodies. As a result, the new substances
carbon dioxide and water are formed. The
change is not reversible and is, therefore, a
chemical change.

Edit with WPS Office
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2. What ,
3. Classif\

HOvarsib) * changes? &toﬁcmmw 1
TeVersiblo changes? Pi"b) RM'W‘LM' e

Ctollo, o
Vg into desirable and undesirable changes.

a) The on \
&) Th “Poiling of foog Undssitable (b) The digestion of food @W“*

¢ Tl il Y
(©) The tot 15 0f an g 2 Undesitable (d) The decaying of a dead animal in open air
{

4. Define physicq] hanpog o
5. Define ihémiml\-; g RMM—’3 DeSIrable
| al changes, P@ b me " /1 .
6. Classify the following it physical and chemical changes, P=¢ ,‘wf
(a) The melting of icc (b) Rusting C C: i
(¢) The cooking of food ¢, (d) Fermentation L
(e) The evaporation of 4 liquid P (f) The sublimation of iodine )9
(g) The dissolution of a solid C (h) The burning of coal G
(i) The glowing of a bulb f’ (j) The freezing of water P
(k) The curdling of milk (, (1) Photosynthesis in green plants (
(m) The condensation of water vapour f (n) The digestion of food
(0) Theboiling of anegg (p) The growth of a plant C

7. Define an endothermic change. ~ ¢

8. Define an exothermic change.
9. Classify the following into endothermic and exothermic changes.

(a) The dissolution of glucose £ e
(b) The boiling of water £ poly Fhegmt

(c) Buming  Fuothetmic W«J‘

Vv | Edit with WPS Office



Objective Questions

L 'Ilt\nﬂ‘ ”'lt\ varmedt l‘]‘“'«“\
i N ¥ 5 .
L Which of the following 1s not a reversible chanpe!
(b)Y The melting of iron

@ The change of water into water vapour
[he burning of kerosene

() The condensation of water vapour

2 Which of the tollowing is a desirable change!

(@) The rotting of an o (b) The spoiling of food
[»‘)’”u‘ digestion of tood () The rusting ol iron

3. During which of the tollowing changes are new substances formed?

(@) Melting (b) Sublimation

(¢) Dissolution LAY Burning
4 Inwhich of the following processes does glucose react with oxygen?

() Sublimation l,(lv‘l/l”{vspi ration

(¢) Photosynthesis (d) Rusting
5. Inwhich of the following changes is energy derived from sunli ght?

(a) The freezing of water \/(ﬁ]’hnlnsymlwsis

(¢) Sublimation (d) Rusting

Fill in the blanks.

bl

1. When a solid dissolves in a liquid, the volume of the liquid ...... . (changes/doesTot change)
2. The curdling of milk is ...... process. (a reversiblo/ an"‘lﬁ\:orsihlc}

3. The slaking of lime is an ...... change. (endothermic/exothrmic)

4. The molecules of a ...... hide themselves in the intermolecular space of the ...... . (:@‘nl / sg&
5. When burnt, wood forms carbon dioxide and ...... - (hydrogen/waldf va pour)

6. Iron combines with oxygen and ...... of the air to form rust. (nitrogen/ mojstre)

Write ‘T’ for true and ‘F’ for false for the following statements.
1. A physical change is irreversible. F
2. A chemical change is reversible. F
3. The mass of a substance undergoing a physical change is not altered, T
4. Heat is absorbed when glucose is dissolved in water. T
. Heat is evolved when concentrated hydrochloric acid is poured into water. T

5
6. A mixture of iron and sulphur undergoes a chemical change when heated, T

Q
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o)) Internet - Ethics & Safeguard

ﬁ Exercises

A. Tick [¥'] the correct answer.

I
4.

a. Z. by 3. b
C. 5: b. & b 7. a.

B. Write ‘T’ for True and ‘F’ for False statements.

1.
4,

T 2. T
F & F

C. Fill in the blanks.

1.
4.

Web Portal 2. Hyperlink 3. Period
Viruses 5. Key logger 6. Hacking

D. Define the following.

L

Domain name: It i5 the text version of an IP address. A domain
name is part of the web address that you type in a browser address
bar to access a website.

Vulnerabilities: Vulnerzbilities are flaws in computer software that
create weaknesses in a computer’s overall security. It can also be
created by improper computer or security configurations.

Pop-up AD: It is a sort of advertisement that disturbs our web
browsing by appearing in & separate browser window on top of
(over) our current window.

Keyloggers: A keylogper [keystroke logging) is a type of software,
often found on public computers, that records keystrokes we make
to enter the data in the computer in a hidden file.

Cookies: A cookie is 2 small text message that a web browser stores
on our computer to keep track of websites. Cookie files typically
contain data about us, such as our user mame, postal code, or
viewing preferences.

Virus: Viruses are programs which are created deliberately to
damage data. A virus can badly affect or infect our computer
without our knowledge and alter the working of the computer.



Spyware: It is a software program that gets installed on our
computer, without our knowledge or consent. This program secretly
gathers data from our computer, steals our passwords, displays

advertisements, and takes control of cur weh browser.

E. Differentiate between the following.

1.

Web server: A web server is a computer that stores web pages and
makes them available on the web for other people te refer to.

Web browser: A web browser is a software program that allows you
to view and explore information on the web.

Spam: It involves sending unwanted messages by spammer to a large
number of recipients. It can be used to deliver emails that contain
viruses and targeted attacks aimed at cbtaining sensitive, persenal
identification information.

Phishing: It is a scam in which we will receive an official or
legitimate looking email message that attempts to obtain our
personal and/or financial information.

Hacker: The term hacker refers to someone who accesses a
computer or network illegally. This can happen either for positive or
negative reasons.

Cracker: A cracker is someone who also accesses a computer or
network illegally, but has the intent of destroying data, stealing
information, or other malicious action.

F. Answer in 1-2 sentences.

1.

The Internet is a worldwide cellection of networks that links millions
of businesses, government agencies, educational institutions, and
individuals.

The World Wide Web, or simply the Web, is 2 massive storehouse of
information that resides in computers called web servers located all
over the world.

Internet Service Provider (ISP} is a company that provides access to
the Internet for a maonthly fee. To connect to the Internet, we must
sign up for an account with an Internet Service Provider.

We should not save password to account in a particular website
because if in future anyone else who uses our computer can also
access our account from the site without our permission.



5.

Digital footprint is a trail of data we create while using Internet.

G. Answer Briefly.

1.

Protecting ourselves means understanding and preventing a number
of security and privacy problems. If we do not take measures to
protect ourselves from potential threats in the cyberworld, we and
our computer could become the target of a cybercrime. Cybercrimes
are those instances when a person illegally accesses our computer
for malicious reasons.
An IP address, short for Internet Protocol address, is a sequence of
numbers that uniquely identifies the location of each computer or
device connected to the Internet. It has four groups of numbers that
are separated by a period (.). The number varies between 0 and 255.
For instance, the numbers 153.25.15.10 is an IP address. The first
part of the IP address identifies the network and the last part
identifies the specific computer.
We should make a strong password and change it frequently. Our
password should be at least six characters long and include at least
one number, letter (combination of upper and lower cases) and
special character (@, ¥, &, !, etc). Our new password should be
different from any other passwords that we have used. It is strongly
advised that we use different passwords for all different accounts.
Cyberbullying is harassment that takes place using technology which
includes sending or forwarding threatening text messages, posting
embarrassing or altered pictures of someone without his or her
permission, or setting up a fake online social network page where
others make harsh comments and spread rumors about someone.
We can prevent ourselves from it in the following ways:
e Never give your personal information and password to any
unknown person. He/she can use this infermation to harass us.
e Check for privacy settings, usually found on the Settings on most
sacial networking sites, to set permissions.
Social engineering is a term used for gaining unauthorized access to
or obtaining confidential information by taking advantage of the
trusting human nature of some victims, it is the art of convincing
people to reveal confidential information, such as user names and

i TEE



passwords, on the phone, in person, or on the Internet. Human

nature of trust is the basis of any social engineering attack.

Preventive measures:

-]

iii.

Verify the identity of the person or organization requesting
personal or confidential information.

Avoid using public computers to conduct banking or other
sensitive transactions.

Parents should advise children to play only these online games
which are suitable for their age.

Parents should advise children that most social networks such as
facebook are not suitable for children under 11-12 years of age.
Parents should be part of their children's online life. Parents
should make an environment at hoeme where the child can
discuss anything without feeling awkward.

Parents should advise children not to share any personal

information toc any unknown person.

H. Application Based Question.

This potential threat can come under Social Engineering.



€)» HTML - Images, Links & Table

‘iEmroisaa

A. Tick [v'] the correct answer,

1. a. 2. b. 3. c
4. B 5 b.

B. Write ‘T’ for True and ‘F’ for False statements.

1. T 2. F 3. T
4. F 5. T

C. Fill in the blanks.

img 2. Absolute, Relative
3. Hyper text reference 4. Padding 5. Left aligned

D. Define the following.

1. Hyperlink: Any web page can be connected to another by creating a
Link or Hyperlink. Links enable users to navigate from one topic to
the next on a website and from one website to another.

2. Absolute Link: It is a hyperlink containing a full URL, which includes
the entire information needed to find a particular site.

3. Relative Link: Relative Links locate web pages within the same
directory or subdirectory that can be defined from the current
position.

4. Cell Padding: The web browser displays the designated amount of
space between the cell contents and the cell borders. It is called Cell
Padding.

6. Cell Spacing: The web browser displays the designated amount of
space between the cells. It is called Cell Spacing.

E. Differentiate between the following.

1. Bulleted list tag: Bulleted list or unordered list tags are used to show
the items not in a particular order. In this, bullets are used to list
the contents in such a way that it looks more organized. We can also
place circle, disc, or square instead of bullets.

Ordered list tag: Numbered list or ordered list tags are used on a



web page for displaying items in 2 specific order, such as a set of
instructions or 2 table of contents. We can zlso place A, B, C, .... or
i, ii, iii, etc. instead of 1,2,3...etc.

Internal links: Internal links are the links to the pages within our own
website. These links can be either absolute or relative.

External links: External links are links outside ocur own website,

These links must always be absolute.

F. Answer in 1-2 sentences.

:

The concept that is difficult to explain in the form of text can be
explained with the help of a picture or an image easily and quickly.
Hence, we add images to the web pages.

We can download images from web, scan them, or even get them
from computer stores.

IMG stands for ‘image’ that tells the browser that an 'image will be
placed here' on the page.

SRC stands for ‘'source’. It is the scurce of image file. It specifies the
URL (Uniform Resource Locator) of the image.

Links enable users to navigate from one topic to the other on a
website and from one website to another. The user clicks the link,
and the browser opens the destination page.

We can create a table to clearly display information on 2 web page
in a tabular format. For example, if we like to display the price list
or sales order of an item, the best possible selution is to display it
using the table.

G. Answer Briefly.

1.

ALIGN: It is used to align an image on the web page- left, right, top,
middle, and bottom.

ALT: It specifies which alternative text should be displayed, if a
selected image is not displayed.

SRC: SRC stands for "source." I is the source of image file. It
specifies the URL {Uniform Resource Locator) of the image.

HEIGHT: It specifies the height of an image in pixels.

WIDTH: It specifies the width of an image in pixels.

<IMG SRC = “ABC.IPEG"” ALIGN=Left WIDTH = “450" HEIGHT = “350"



HSPACE = 50>

We can create a link to an image so that we can click on that image
to display the link. This is helpful in case we wish to display a large
number of images on our page. So, in that case, we can display the
same images in small size on a page and create hyperlinks to their
larger sizes. |ts syntax is:

<A HREF = "http://www.pcworld.com">

SUMMARY: It defines a text string that gives a brief description of
the table,

BORDER: It specifies the width of a border around the table in
pixels.

BGCOLOR: It specifies a color for the table background as the RGB
number or a color name,

ALIGN: It is used for aligning the content in an individual cell and the
table itself.

WIDTH: It specifies breadth of the table in the browser window.

We can combine two or more cells in a row or column to make one
large cell. Spanning cells is mainly used to display a title across the
top or down side of a table,

H. Application Based Question,

it

Kavya should use ordered list, <OL> tag for displaying the result in
an ordered form on the webpage.

First possibility is that Divya's image is not in GIF or JPEG format
that the browser will support. Secondly, she has not specified the
right path of the image where it is stored.
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CHAPTER 32

Exercise - 1

He had left before | could reach.

| will wait until you come.

The sun is larger than the moon.
Come with me if you wish.

He did not come as he was sick.
They will stay there till he goes.

As he was not there, | met his father.
Let us go to bed as it is very late.

He did not work hard; so he failed.
He is unhappy though he has passed.

Exercise - 2

He will not come though he is invited.

Is Mahesh older than Anju?

You will miss the train unless you run.

You will get better marks if you work hard.

She ate so much that she could not get up.

| happened to reach there when my father was on leave.
Did he know that | had permitted you?

Mohan is unhappy though he is rich.

| don’t see how Meera can go there.

She failed and she tried again.

Exercise - 3

Abha is fat but Anu is fatter.

She failed though she worked hard.
He ran yet he missed the train.

We waited and the bus came.

We believe that the earth is round.
The boy is fat but the girl is thin.

Work hard or you will fail. |
John was fond of Mary though she often annoyed him.
| carried his box and he thanked me.

Ramesh plays cricket but Ranjit plays hockey.
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Exercise - 4

My father had reached the station before the train left.
When Sumer got up the cock crew.

As he was afraid he ran away.

If you have tears, prepare to shed them now.

Since it is raining, | will take a raincoat with me.

We must take a taxi so that we may catch the first train.
| like her as much as | like you.

He is poor because he is honest.

We eat that we may live.

The hunter’'s dog follows him wherever he goes.
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subordinating conjunctions are di\nh

according 10 their meanings, that 1S, W

place, cause, purpose, result, condition,

manner .
(i) Time ‘
He came when it was dark.
| went after he had left.
ii} Place .
o He will comeé where you want him to meet.
Meera's dogd follows her wherever she goes.
(iii) Reason or Cause - r
| shall comeé pecause you have invited me.
pen, | wrote with a pencil.

As | did not have a

(iv) Purpose
He rested so that he may feel better.
ther, lest he be angry.

She wrote 1o her bro

(v) Result or Consequence &)
Herbert worked SO hard that he fell sick.

The girl was SO tired that she fell asleep.

(vi) Condition -
| shall go home if I am allowed.
She will not be excused, unless she asks pardon.

(viiy Comparison R
Rita is fatter than her brother (is).
She likes me as much as (she likes) you:

(viii) Concession or Contrast |
Chikku is active though he igfaty wovi
Though he hates mé, yet | like him.
(ix) Manner or Extent .
He behaves as if he is a king.
This is wrong SO far as | know.
[‘As if’ shows manner, answers
EXERCISE -1

Pick out the conjunctions in the following sentences and next
to each bordinating as the case may be:

the question ‘hoW'.]

write co-ordinating or su
i He left before | could reach. (Time)
2, | will wait until you come. Lo (Time) : .
-3 “The sun is larger than the moon.. Sub ( Corrr‘#wm)
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4. Come with me if you wish. L
5 He did not come as he was sick. b e )

6. They will stay there till he goes. Lub ( a5 QL@.W?J

7. As he was not there, | met his father. (éb‘b f&;.,m‘ .

8 Raatf? e tive
9

1

Let us go to bed as it is very late. LWz~ “° .y <7
_ He did not work hard; so he failed. o - 0_:’*-“1*_ @:LULM
0. He is unhappy though he has passed. Ao ~

EXERCISE - 2 |
Eill in the blanks with suitable conjunctfons.' State whether it
is subordinate or coordinate :-
Qo

1 He will not come.thaw...he is invited.
Is Mahesh older Kb, Anju?  Aub
"~ You will miss the train.tl¢55..you run. b
" You will get better marks..Af.......you work hard. AV
She ate so much...Hak......she could not get up. Awlo

3 4o

4

b. s
6. | happened to reach there.Whin..my father was on leave. A

- Did he know ...3h&k.... | had permitted you? &

8

9

1

Mohan is unhappy Hhawghe... he is rich. Aub

 ldon't see ... ... Meera can go there. dub
0. She failed ......! and...... she tried again. Co- o HALhH

EXERCISE - 3

Join these pairs by means of appropriate conjunctions:-
1. Abha is fat. Anu is fatter. |
o She failed. She worked hard.
3 He ran. He missed the train.
4. We waited. The bus came.

5 We believe. The earth is round.
6. The boy is fat. The girl is thin.
7. Work hard. You will fail.

8. He was a fool. He was a genius.

9. | carried his box. He thanked me.

10. Ramesh plays cricket. Ranjit plays cricket.

EXERCISE - 4 | |

Join each pair of the following sentences by means of the
conjunction given in brackets and indicate the class of Subordinate

conjunction used :-
1. My father reached the station. The train left later. (before)

Fine)
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The cock crew. Sumer got up. (when) Time
away. He was afraid. (because) (easimn o
He ran y ) Covdit

2
i vou have tears. Prepare to shed them now. (if)
5' it is raining. | will take a raincoat with me. (since) Reoason .

We must take a taxi. We may catch the first train. (so that) Purb
| like her. | like you. (as much as) Exdent
He is an honest man. He is poor. (although) Cowltasdt

6

4

8.

o We eat. We may live. (that) Ruupos ¢

0. The hunter's dog follows him. He goes. (wherever) f|ac¢

AUADTED - 272



Exercise - 1

(a) who (b) to (c) in (d) of (e) as (f) for
(@) got  (h) from (i) policeman (j) and

54
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Exercise - 2

He gave us much good advice.

| have finished the third and the fourth chapters of this book.
The professor is a European from an American University.

The scenery of Kashmir is very charming.

Who cares for the weaker sections of a society ?

Each one of the boys who met us was very happy.

Neither of the charges was just.

Fire broke out in the huts near the sacred river Ganga.

They kept their promise of distributing ten dozen mangoes to
the class.

This is one of the best novels that have been printed this year.

Exercise - 3

| have not heard from my brother since 2010.

The two men struck each other.

| am very pleased to see you.

Health is preferable to wealth.

| have just finished my work.

They hung the picture on the wall.

He had been ill for two days, when the doctor was sent for.
It is very hot today and | am very tired.

The king, with his ministers, was present.

| have been working on the project since last Monday.

Exercise - 4

He has ordered a wrist watch.

Though he worked hard yet he failed.

It has been raining since 10 o’clock.

Attend to your work carefully.

He is too weak to walk.

| have only a ten-rupee note.

She is a very interesting person.

He is much interested in his work.

He walked fast lest he should miss the train.

No sooner did the bell ring than the boys ran out of the class.



PART TWO

GRAMMER : SENTENCE STRUCTURE

Unit I
CHAPTER 36

Exercise - 1
S. N. Subject Attribute
1. building The, on the hill
Z. brother His younger
3. loaf Half a
4. boy The wicked
D. daughter The teacher’s
6. poem Simi’s
¥ i Gandhiji the father of the nation
8. dolls Walking
9. person An intelligent
10. bird A, in hand

Exercise - 2
S. N. | Predicate Predicate Word
1. shall go home shall go
2, looked very attractive looked
B wrote down the story wrote
4, fell to the ground fell
5. was a great Roman. was
6. were great friends were
7. wanted to shout wanted
8. appeared to be happier now | appeared
0. has night duty has
10. are black in colour are




Exercise - 3

S. N. | Subjective Complements | Object Words
1. innocent —
2. - her
3. — to go away
4, in the horizon ==
5. - what to do
B. - to help the villagers
7. up to God —
8. unhappy —
9. mistaken —
10. — the complete book
Exercise - 4
S. Subject Predicate
N. | Subject | Attribute | Verb Object
Word
1. |forgive To is divine
2. |policeman|The looked everywhere
3. |Man is the king of
creation
4, |He was between the
fire and the
frying pan
5. |Some are born great
6. |water Little drops [ make the mighty
of ocean
7. |God is our father
8. |Success comes from hard work
9. [children Small love books with
pictures
10. |Jack and went up the hill
Jill
11. [warning |A timely can be |of great
use
12. |shoes His white [look very shabby
13. |[jury The found the man guilty
14. |singing The, of the |makes |[me happy
birds
15. |Hearing the noise, |opened |[the door

she
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CHAPTER 37

Exercise - 1

The students answered every question. (Noun phrase)

We shall return at once. (Adverb phrase)

| like to see a face with a smile on it. (Noun phrase)

She wore a shirt made of silk. (Adjective phrase)

He was punished in a cruel way. (Adverb phrase)

Amit ran with great speed. (Adverb Phrase)

Nobody likes a person with a bad temper. (Adverb phrase)
My little brother sings in a delightful manner. (Adverb phrase)
Early to bed is a good maxim. (Noun phrase)

Mark is a boy of great loyalty. (Adjective phrase)

Exercise - 2

Meena writes in a neat manner.

Did the teacher speak in a nice manner?
She was dressed in a beautiful way.
We shall reach the land in a short time.
| met your uncle a short time ago.

Exercise - 3

Brutus was a man of great honour,

Rakesh is a boy able to make good judgement.
Mahesh wore a cap of red colour.

February is the month of shortest duration.
Macbeth saw a dagger stained with blood.

Exercise - 4

Phrase Kind

We have talked about our problems. Noun

| don’t like your playing football. Noun

My sister likes books of History. Adjective

| met a young man of pious nature. Adjective

il B Eod £ ad P

They walked very slowly. Adverb

CHAPTER 38

Exercise - 1

A person who is truthful will be loved by all. (Adjective clause)
He left before the rain stopped. (Adverb clause)
He hopes that he will win the race. (Noun clause)




4. When she came to meet me, | was in Delhi. (Adverb clause)

5. | expect that she will punish us. (Noun clause)

6. No one likes children who are noisy. (Adjective clause)

7. | know that your father is in Japan. (Noun clause)

8. The boy was punished because he did not tell the truth. (Adverb

clause)
9. A man who works little is not liked. (Adjective clause)
10. When the rain stopped, we moved out. (Adverb clause)
Exercise - 2
Phrases Clauses

 F

Everyone likes a book full of
pictures.

Everyone likes a book which
is full of pictures.

- 4

| knew of his sickness.

- &

| knew that he was sick.

3.

We shall start at sunrise
rises.

3.

We shall start when the sun.

4. He told me the time of his 4. He told me when he would
departure. depart.

5. He wants to go home. 5. He wants that he should go

home.

6. Talkative people do little work. | 6. This is a clause,

7. The time of his death was 7. The doctor knew when he
known to the doctor. would die.

8. He shouted with all his 8. He should as loudly as he
strength. could.

9. We thought her to be 9. We thought that she was
sincere. sincere.

10. | shall come to discuss the

project.

10. | shall come so that we may

discuss the project.

—
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Exercise - 3
You can have anything of you wish.

Wait here for my return.
She has come to teach us.

This was the reason for my coming late.

The child returned at sunset.

Everybody expected him to return.
She believed in the man's sincerity.
The sum was too difficult for him to solve.

We hope to return before night.

He was not rich enough to buy a car.



Exercise - 4

Chitrali has a pleasant manners therefore everyone likes her.
Everyone like Chitrali because she has good manners.

The compartment was so crowded that Amar could not get in.
On account of the increased demand, the prices have gone up.



I

=
o,

Saint Joseph's Convent School, Moga
SHAKESPEARE
Chapter - 7 Julius Caesar

Q2 :- How does Caesar continue to wield power over events after he is dead ? Is he
true protagonist ?
Ans - Throughout the whole play, Caesar is wielding power over events as he was going
to be the ruler of Rome. After his death, his ghost comes to Brutus to realize him his guilt.
So, Caesar is the real protagonist as he was overpowering the whole play even after his
death.
Q3 :- The play depicts Rome at the time of transition between republic and empire - a
time in which theoretically the Roman people are losing their power. What role do the
people themselves play in this transition.
Ans :- People of Rome played a very important role in deciding whom they want to rule
over them. They gave their full support to Mark Antony to defeat the conspirators. They
accepted Octavius Caesar as their emperor under whose rule Rome became a powerful
country.
Q4 :- Julius Caesar is a play about statehood and leadership. Why do you think this play
about conspiracy and assassination might appeal to today's politicians ?
Ans :- Today most of the leaders are greedy and want to be the sole owner of power.
They do not bother of their country and do not hesitate to play dirty games against each
other. They always misuse their power. So, it can be said that the play Julius Caesar
might appeal to today's politicians.
Q5 :- Is friendship between the pairs given below true or merey political alliances forged
for the sake of convenience and self - preservation ?
Ans -
A) Caesar and Brutus - There was a true friendship between Caesar and Brutus.
Although Brutus killed Caesar but that was not for his personal gain but for the love of
his country.
B) Caesar and Antony - They both were dear friends. Caesar always kept him near
himself. At the end, Antony proved his loyalty by taking the revenge of Caesar's murder.
C) Brutus and Cassius - Friendship between Brutus and Cassius is merely political.
Cassius wanted to get higher rank. So, he poisoned Brutus and misused his good name.
D) Antony and Octavius - Antony and Octavius are not good friends but the best political
alliance. They joined their hands together to take revenge of Caesar's murder.
Q6 :- Both Caesar and Brutus are inflexible. Is this rigidity an admirable trait or a flaw.
Ans :- It is flaw for Caesar that he is inflexible in his decisions. He refused to listen his
wife when she warned him by telling her dream. He was not ready to forgive Publius
Climber even after a lot of begging. This incident leads to his death.

Brutus is also inflexible. He decided to support the conspirators in order to save
Rome from the over ambitious Caesar and brings ruins to himself in the end.

EXTRA QUESTION ANSWERS :-
Q1:- Who says_'Et tu Brute' ? When were these words spoken and why ?
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Ans :- Caesar says these words which means 'you Brutus'. These words are said when
Brutus stabbed Caesar is too hurt to see that his dear friend. Brutus could resort to
such disloyalty.

Q2 :- What is the position put before Caesar by conspirators ? How does Caesar
respond to it ?

Ans - The conspirators want Caesar to recall the order of exile past against Publius
Climber. Caesar refuses and he doesn't change the mind.

Q3 :- What do the conspirators proclaim to justify Caesar's death ?

Ans :- The conspirators proclaimed that they killed Caesar to free Rome from him and
to establish democracy, liberty and freedom.

Q4 - Seeing the body of Caesar, Antony is overcome by grief. What does he say about
Caesar ?

Ans :- Antony says that the great conqueror, Caeser is reduced to a dead body and
laying on a small piece of ground. He expresses his willing to die at the conspirator's
hands.

Q5 - What does Antony say when he is left alone with Caeser's body ?

Ans :- Antony calls the conspirators, butchers and vows to take revenge of Caeser's
murder.

Q6 :- What reason does Brutus give for murdering Caeser ?

Ans :- Brutus thinks that Caesar is an ambitious person and if he is crowned, he would
treat the Romans as his slaves. So, Brutus decided to kill Caesar.

Q7 :- Give a detailed account of events leading to Caesar's Murder.

Ans :- On the way to Capitol, Caesar was surrounded by his enemies. Casca asked to
Caesar to forgive Publius Climber for his mistakes. The senators knelt down before
Caesar for pardoning Publius Climber. Suddenly Casca stood up and stabbed Caesar
followed by all the conspirators. At last when Brutus stabbed him, he was not able to
stand and fell down.

Q8 :- How did Mark Antony convince the people that Caesar's murder be avenged ?

Ans :- Mark Antony gave a passionate speech in which he reminded the people that
Caesar had brought many captives and filled the country with treasury. He had also
made his will in the favour of his Roman people. In this way he convinced the people to
take the revenge of Caesar's murder.

Q9 :- Why was Brutus not happy in the end ?

Ans :- Brutus was unhappy because he had realised that the people who had spoiled his
mind had actually murdered Caesar for their own gains. They were corrupt and only
interested in the higher ranks for themselves.

Q10 :- Write character sketch of Mark Antony.

Ans :- Mark Antony was a dear and loyal friend of Caesar. He was a great orator and had
capacity to change the situation and mind. He was a great leader of his army. Under his
leadership, his army took the revenge of Caesar's murder.

Q11 :- Write character sketch of Brutus.

Ans :- Brutus was dear friend of Caesar. He had great respect for the people of Rome.
He had a wrong judgement regarding the characters of others. Due to this, he killed
Caesar because he was unable to find out who was true towards him.
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Saint Joseph's Convent school, Moga

Lesson - 13 The Tempest
Inside Meanings :-
Pg - 80:- narrating - telling, arrived - reached, adapted - modified, version - genre, lonely -
alone, wise - intelligent, command - order, chief - main, gentle - kind, devoted -loyal,
mischief- naughty, fearful - dreadful, drown - sink, pity - to feel sad, anxious - worried,
comforted - relieved , heir - successor.
Pg - 81:- trusted - believed, treacherous - cheated , cunning - clever, rotten - very bad,
certainly - surely, perish - die, fortunately - luckily, Mercy - pity, wand - a long stick, crew -
people on the ship, alarmed - surprised, terror - extreme fear.
Pg - 82:- astonished - surprised, wandering - roaming, delighted - pleased, maiden -
unmarried, timidly - with shyness, harshly - rudely, seize - grab , pile - heap, exhausted -
tired, weep - shed tears.
Pg -83:- merely - only, weariness - tiredness, Evil - wicked, robe - clothes, instantly -
immediately, begged - asked humbly, assured - confidently.
Pg -84:- buried - put something underground, repentance -feel sorry, delight -happy.

A - Tick the correct options :-

1 a. Duke of Milan.

2. b. trusting Antonio.

3. c.difficulties in their way.

4. a. had been punished by Prospero's magic and had realised their mistake.
5. c. buried his books.

B - Read the sentences and answer the questions:-
1. a. Ariel was invisible to all except Prospero.
b. Ariel was invisible because he was a spirit.
c. Prospero was a magician. So Ariel was not invisible to him.
2. a. Prospero was Ariel's master.
b. Antonio and the King of Naples were on the ship.
c. Ariel had raised the fearful storm in the sea.
3. a. Prospero said these words to Ferdinand.
b. Prospero tested the strength of their love by speaking harshly to Ferdinand and
by giving him difficult tasks to do.
c. Prospero was convinced of their love. He was very happy and allowed them
to marry.
4. a. Ariel sang these words.
b. Ariel will live happy and free life now.
c. Prospero set Ariel free. So, he would live merrily now.

C - Answer these questions :-

1. Antonio and the king of Naples were guilty of robbing Prospero's Kingdom and
setting them in the rotten boat to die in the sea.

2. Gonzalo placed clothes, food and books of magic in'the boat.
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3. Ariel led the Prince to Prospero by singing a song.

4. As Antonio and the king of Naples were hungry, weary and remorseful. So Prospero
and Ariel showed pity towards them.

5. Prospero presented Ferdinand to his father, the king of Naples as a gift. He was
overjoyed to see his son alive.

6. The three things that Prospero did before leaving the island were to bury his magic
books in the ground along with his magic wand and set Ariel free. As Prospero got
everything back whatever he wanted, so he did not need these things anymore.

D - Think and answer.

1. We know that Miranda did not know about Ariel as Prospero thought that she would
be alarmed to see him talking with empty air so he made her fall asleep.

2. Prospero smiled because he knew that Miranda and Ferdinand would fall in love.

3. This tells us that this Island was inhabited by human beings except Miranda and
Prospero.

4. Prospero put Ferdinand to work because he wanted to test his love towards Miranda.

E - Tick the correct meanings of the phrases in bold :-

1. a. with the help of his supporter

2. a. enthusiastic description

3. b. spoke to her as if she was the goddess of the island.

F - Add the suffixes ence or ance to change the form of these words. You may have to
make some changes in the spellings of these words.

. difference

. disturbance

. intelligence

. allowance

. assurance

. appearance

. performance

. conference

O NOoO oA~ WOWN =

G - Rewrite these sentences in the passive voice.

1. Chess was being played by Ferdinand and Miranda.

2. The most important tasks were given to Ariel by Prospero.

3. Ferdinand was told timidly by Miranda that she was no goddess.

4. Gonzalo was thanked by Prospero for saving his and Miranda's life.

5. International Women's Day was celebrated by all the men in my family on 8th March.

H - Rewrite these sentences in the active voice.

1. Prospero's younger brother Antonio exiled him from his Kingdom.
2. Miranda asked Prospero if he was responsible for the Tempest.
3. Prospero put Miranda to sleep with an enchantment:

Y
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4. 28 women of the Special Tiger Protection Force petrol the Pench National Park.

5. Riyaz\arranged the books on the shelves neatly.
6. Our mother gifted a sewing machine to the helper in the house.
7. We cuddle and pamper our young cat.

i yE "

/Ed‘l’{__wi"fﬁ WPS Ofﬁc’e._

; / N
r o *

N



Saint Joseph's Convent School, Moga
Lesson - 15 The Milkman of India

Inside Meanings :-
Pg no. 91 :- tribute - pay homage, Legend - myth, determination -firm Idea,
transformed - changed, initially - at the beginning, disappointed - annoyed,
accommodation - living place.

Pg no. 92 :- touched - felt very sad, inspired - affected, eager - curious, plea - request,
regretted - felt sorry, exploited - cheated, inaugurated - opening ceremony, ideal -
role.

Pg no. 93 :- rejected - refused, charm - attract, surplus - excess, pleaded - requested,
deficient - lacking.

A - Tick the correct option :-

1. c. had to work in a government Organization in return for the scholarship paid by
the government.

2. ¢. the funds needed to implement the plan were beyond the government's budget.
3. c. was written by Sylvester daCunha.

B - Read the sentences and answer the questions.
1. a. Pestonjee was the owner of Polson Dairy.
b. Pestonjee was fooling the farmers by selling the products at higher prices
and paying the farmers less for their produce.
c. Verghese Kurien helped the farmers by suggesting that they could
organize themselves into milk cooperatives.
2. a. Tribhuvandas Patel said these words to Verghese Kurien.
b. Verghese Kurien was needed in Anand because he was helping the farmers
to form their own cooperatives.
c. Tribhuvandas Patel's request was that Verghese Kurien should stay back
in Anand and help the farmers.

C - Answer these questions.
1. Dr. Kurien gave an uninterested response as he was not interested in
pasteurisation. Abroad, Dr. Kurien studied Mechanical Engineering as the main
subject and Dairy Engineering as the minor subject.
2. The Amul advertising campaign has the tagline, 'Utterly Butterly Delicious Amul'.
The campaign is significant because, created by Sylvester daCunha in 1966, it was
an instant success. The Amul girl is one of the famous mascots India has seen yet.
3. Operation Flood was one of the largest rural development programmes. It was
launched in 1970. It helped dairy farmers to direct and manage their own resources.
Lal Bahadur Shastri suggested Dr. Kurien to replicate the Amul model across the
country.
4. 1946 - Joined the Michigan state university.
1949 - Reached Anand.
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1950 - Joined the Kaira Cooperative as General Manager.
1955 - Jawaharlal Nehru inaugrated the dairy plant.

1957 - Amul was registered.

1964 - Lal Bahadur Shastri visited Amul at Anand.

1965 - Awarded Padma Shri.

1966 - Awarded Padma Bhushan.

1970 - Operation Flood was launched.

1999 - Awarded Padma Vibhushan.

D - Think and answer.
1. i) Establishing an institute of national importance in a village.

if) Bringing India out of milk deficiency.

iii) Inspiring other countries to replicate the model.
2. The term White Revolution is very suitable for the pattern as it solved the
problem of milk deficiency in India to the extent that country became the largest
producer of milk.

E - Tick the correct words within brackets to complete these statements.
1. rock

2. fish

3. mouse

4. nails

F - Write six words that can describe Dr Verghese Kurien.
1. inspiring

2. helpful

3. hard - working

4. honest

5. determined

6. creative

G - Look up the meanings of these genres in a dictionary. Write the words correctly
in this diagram.

FICTION BOTH NON-FICTION
Drama mystery autobiography
fable historical encyclopaedia
play folk tale journal
fantasy biography
parable

fairy tale

H - Rewrite these sentences in direct speech. Replace the verb told with other verbs.
1. Verghese Kurien said to the interviewer, "l want to study Metallurgy and Nuclear
physics."
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2. The government official said to Kurien, "You have to work in a government
creamery in Anand."

3. Tribhuvandas Patel said to Kurien, "I am the leader of the farmers."

4. The farmers said to Pestonjee, "You are not paying us enough for our produce."

5. Prime Minister Lal Bahadur Shastri said to Kurien, ‘| am impressed by the way
Amul is sourcing milk from the farmers."

| - Rewrite this conversation in reported speech.

1. The interviewer asked the young man what he knew about pasteurization.

2. The young man's uninterested response was that something to be done with the
milk.

3. The interviewer explained that he was correct and selected for a scholarship in
dairy engineering.

4. A shocked Kurien said that he did not know anything about dairy engineering.

5. The interviewer responded that if he wanted to study abroad, that was the
scholarship that was available.

6. Verghese Kurien told himself that it seemed he had no other option.
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Saint Joseph's Convent School, Moga
Lesson - 18 Friends and Flatterers

In the poem, Shakespeare has given an answer of a very valuable question
that who a real friend is. The poem consists six stanzas, the first four
stanzas giving the examples of false friends and the last two describing the
qualities of a faithful friend.

Shakespeare paints the picture of a wealthy man. Such a man always
attracts many friends. They all flatter him, call him generous and fit to be a
king. However once he has lost his wealth, those friends disappear. They will
not offer any help and start to avoid his company.

A true friend on the other hand, is one who helps in need. He will share your
joys and sorrows. In this way the person can separate a loyal friend from a
fake one.

Pg. No. 114 - thee - you, misery - sorrow, faithful - loyal, scant - little, want - desire,
bountiful - on large quantity, pity - feeling of sorrow.

Pg. No. 115 - Fortune - luck, farewell - goodbye, renown -fame, thy - your, indeed - in
truth, grief - sorrow, signs - symbols.

1. c. because like the wind they are lost soon.
2.d. rich
3. c. money

1. If one is wasteful, flatterers describe him/her as being royal and say
he/she should have been a king/queen.

2. According to the poet, a friend is someone who helps you when you are in
need. He shares your joys and sorrows.

3. A flatterer would only be found with us when we are rich, happy and
successful. On the other hand, a true friend is always with us through our
thick and thin.

4. a. If we have lost money and are not rich, nobody but a friend will be willing

to help us.
b. 'He'is a friend. The expression refers to the time when we can't sleep
because of worrying.

1. Similes
2. Alliteration
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.-d. is not a friend when you are unhappy or in trouble.
.- e. his popularity is lost.

.- b. are not seen near him any longer.

.- a. he who is truly your friend.

.- C. is a partner through everything.

. because of
. that

as

. Since
. because

. We breathe so that we can live.

. Write it down in order that was dictated.

. Work hard so that you can pass.

. Thangamma walked quickly as he was getting late.

. The travellers took a longer route as the shorter route was busy.

. My friend Denzil can run as fast as the wind.

. Trupti came earlier than the other students.

. Plants breathe as we do.

. The students did the experiment as quickly as the teacher.
. Mrinal is not as tall as her friend.

——
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Saint Joseph's Convent School, Moga
Lesson - 20 The Nightingale and the
Glow-worm

Inside Meanings :-

Keen - eager, appetite - hunger, spied -
looked, spark - light, stooping -
bending, intent - purpose, eloquent -
speech, admire - praise, divine - God,
oration - speech, released - left,
supper - dinner

A - Tick the correct inferences. There
could be more than one correct option.
1. b. The glow worm was telling the
nightingale that both added beauty to
the night.

c. The glow worm believed that
both were equal are they've been
created by the same divine power.
ightingale admired the
oint of view and



did not eat him but let him go.
b. The Nightingale sang his
approval to the glow worm.

B - Answer these questions.

1. The glow worm told the Nightingale
that if they admired each other, they
would not harm each other because
the same divine power had created
them.

2. a. The glow worm could shine and
the nightingale could sing.

b. The gifts were to be used to
beautify and cheer the night.

c. God has given them these things.
3. The nightingale did not eat the glow
worm as it was impressed with the
glow worm's speech.

C - Think and answer.
in the poem is that all
. All have unique



talents to make the world a
beautiful place.

D - What is the rhyme scheme of the
poem ?
Ans :- aa,bb,cc.

E - Explain the meanings of these
lines in your own words.

1. The nightingale saw something
shining on the ground which was far
below and knew that it was a glow
worm.

2. The nightingale would not want to
harm the glow worm as much as the
glow worm does not want to spoil the
nightingale's song.

F - Fill in the blanks with suitable
conjunctions.




3. or

4. because/as
5. Although

6. but

7. unless

8. since/if

Summary -

We each have our part to play on the
earth. By using a nightingale and a
glow worm, William cowper
underlines the importance of
maintaining this balance.

This poem begins by telling how
valuable the nightingale is in his own
way. It sings all day long to cheer up
the villagers. When it's evening, it
stops singing and begins to feel
hungry. It looks a glow worm shining
in the dark. So it flies down to eat it.
nightingale's intention,
Is it a short but




meaningful speech that if the
nightingale admired his light as much
as he enjoyed its singing, then the bird
would not think about eating him. It
was God's plan to give both of them
their respective purposes. The
darkness of the night would be
brightened by his light and the
nightingale's music. Impressed by the
speech, the nightingale praises him
with a song and leaves him.

The moral is about suppressing own's
selfish needs, about not hurting
others unnecessarily. We should
instead respect each other and live in
peace.
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RAMIT KUMAR SHARMA

EXERCISE ANSWER KEY

CH - 4 weathering and soil formation

Tick the correct option.
a) Oxidation.

b) Mountainous region.
c) Erosion.

Fill in the blanks.

a) Disintegration.

b) Wearing.

c) Disintegration.

d) Carbonic Acid.

e) Minerals.

Answer in one word.

a) Weathering.

b) Erosion.

c¢) Decomposition.

d) Mechanical.
Explain the terms.

a) This process generally occurs in arid regions where the layers of the rocks peel off due to
expansion and contraction of the rocks because of alteration in temperature.

b) Chemical reaction of water with minerals change the proportion and composition of rocks
and weakens the rocks and ultimately the rocks break up called Hydration for ex:-
Fledspar changes into clay when come in contact with water.

c) The breaking down of rocks into smaller pieces on its place of origin due to some agents
of weather like Humidity, Temperature and Air etc.

Differentiate between.

a) Chemical weathering:- 1) Breaking down of rocks with its complete chemical composition
change. 2) The agents of chemical weathering are:- water and various atmospheric gases.

Mechanical weathering:- 1) Breaking down of rock without any chemical composition change.
2) The main agents of mechanical weathering are:- Temperature, frost and wind etc.

b) Weathering:- 1) It is a static process. 2) Rocks will break down on its place of origin. 3) The
agents of weathering are present in atmosphere like:- Temperature and humidity etc

Denudation:- 1) It is a dynamic process. 2) It involves breaking of the rocks and wearing them
away from their place of origin. 3) The agents of denudation are present on the surface like
running water and moving ice glaciers etc.




6. Answer the following questions

a)

b)

d)

e)

f)

g)
h)

When rocks break down into smaller pieces without any chemical composition change is
called mechanical or physical weathering. The main agents responsible for this weathering
are:- heat, frost, winds and rainfall etc.

The main factors responsible for mechanical weathering are:- Extreme temperature,
Nature of rocks, Structure of rocks, Frost, Wind and Slop of the land etc.

Denudation is dynamic process that includes disintegration and decomposition of rocks as
well as the wearing away of the rocks.

Breaking of the rocks due to biological factors is called biological weathering. The main
agents of weathering are:- Plants, animals and humans.

Sometime plant roots, burrowing animals and human activities like construction of roads,
mining and deforestation expose the rocks to weather agents to break them into smaller
pieces lead to biological weathering.

The factors responsible of weathering are:- Biological, Chemical and Physical factors.

Refer question 4(a).

The main agents of the weathering are agents of climate and weather. Extreme hot and
cold climate lead to weakening the rock layer and expose them for weathering.

Soil is the fine powdery mixture of rocky material. It contains minerals, moisture and
humus, which makes it fertile. It is a very thin layer is the top soil. The ways for saving soil
are:- Afforestation, Stop deforestation, Scientific methods of agriculture, check
overgrazing and construction of dams and canal etc.
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EXERCISE ANSWER KEY

CH -5 INDUSTRY

Tick the correct option.

a) (ii) Kolkata.

b) (iv) Michigan.

c) (iii) S.Korea.

d) (ii) Dolomite.

e) (iii) Russia.

Fill in the blanks.

a) Sugar.

b) IT.

c) Birthplace.

d) Osaka.

e) Kolkata, 1818.

Match the following.

a) (b)

b) (e)

c) (a)

d) (c)

e) (d)

True / False.
F
F
T
F
T

Explain the terms.

a) The raw materials required for Iron and steel industry are:- Iron ore, Coal, Limestone,
Dolomite, and Manganese etc.

b) Industrial untreated waste is the major source of water pollution. The industries should be
provided waste treatment facilities.

c) USA, China, UK and India.

d) The cotton textile industry is located in Maharashtra and Gujarat because:- 1) Both states are
major producer of cotton. 2) Humid climate of these states is good for cotton textile industry.

e) The key elements of information industry in India are:- 1) IT is located on various place in
India but Bangaluru become the most important centre of IT industry in India. 2) The
computer and electronic industry is very closely related with IT industry. 3) India is one of the
fastest growing IT industries in the world.




)

g)

h)

j)

k)

IT industry:- The IT industry is related with the use of computers to store,, retrieve, transmit
and manipulate data or information, often in the context of a business or other enterprise.
Software_industry:- Software industry only deals with development of applications and

programs to perform various task.

The main advantages of industrialization are:- 1) It provide suitable economic growth to the
country. 2) It provides employment opportunities to individuals. 3) It improves the standard
of living.

Agro based industries:- 1) Industries which gets their raw material from agriculture goods are
called agro based industries. 2) For example:- Cotton textile and food processing industry.
Mineral based industries:- 1) Industries drives their raw material from various minerals are
called mineral based industries. 2) For example:- Iron & steel and food ship building industries
etc.

The most advance ship yard of the world is located in South Korea at Hundai, Hundai
shipyard. The main centers of shipbuilding in India are:- Chennai, Vishakhapatnam and
Mumbai.

A small steel manufacturing unit is called mini steel plant. A mini steel plant can be located on
decentralized locations and work on electricity. These plants use scrap iron and sponge iron
to make rolling steel.

The main problems of sugar industry are:- 1) Low recovery rate of sugarcane juice for making
sugar. 2) Seasonal industry. 3) Sick mill. 4) Mill are located away from the agriculture fields.

Some by-product of sugar industry are:- 1) Bagasse :- used for making paper and cardboards. 2)
Press Mud: - used for making wax & shoes polish. 3) Molasses :- used to make fertilizers & synthetic
rubber.
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CHAPTER - 8 AKBAR THE GREAT

Q1.TICK/CROSS
1.Daswan
2.Buland Darwaza
3.CE1576
4.Chief Sadr
5.Hemu

Q2.FILL IN THE BLANKS
1.Bairam Khan
2.religious

3.1576 Bengal

4 Jaziya Pilgrim tax
5.Ramacharitmanas

Q3 MATCHES

1.guardian of Akbar

2.author of Akbarnama

3.incharge of the revenue department
4.musician of Akbar's court
5.religious faith started by Akbar

Q4TRUE/FALSE

1.True

2.True

3.False (correct is ‘all' in place of 'the Rajputs only’)
4.False( correct is 'abolished' in place of 'reimposed'
5.True

Q6.GIVE REASONS
1.(a) He knew Delhi and Agra could never be safe until Rajputs were subdued.

(b) He aimed at their support and won
them over with matrimonial alliances.

(c) He offered them high posts.
2.(a) He expanded the Mughal Empire to almost twice its size.
(b) He was tolerant to other religions.

(c) He made many administrative reforms which were even used by the British.

Q7.PICTURE STUDY
1. Buland Darwaza



2.Fatehpur Sikri
3.1t was built to commemorate Akbar's conquest of Gujarat.
4 Akbar built it.



Subject - History & Civics

Chapter-9
Q1.Tick/Cross
1.Aurangzeb
2.CE1761
3.Aurangzeb

4 .Shahjahan
5.Jahangir

Q2 Fill in the blanks
1.Taj Mahal

2.chain of justice
3.Rajput ruler Jain Singh
4 Mehrunnisa

5.AD 1686

6.pilgrimage

7.Guru Teg Bahadur
8.Khalsa

Q3.Matches
1.(9)
2.(f)
3.(c)
4.(a)
5.(b)
6.(d)

Q4.True/False

1.T

2.T

3.T

4.T

5.F(corresct statement is no friendly)

6.T

7.F(in place of Red Fort at Delhi write Ahmednagar)
8.T



Ch -9 History & Civics class -7
Ans.6Aurangzeb reimposed Jazia and pilgrimage tax because of his orthodox religious policies.
Ans.7 (a) Aurangzeb's faulty policies
(b)His Deccan policy
(c)Weak Successors
(d) Empty Treasury
Q6.

1.Aurangzeb wanted to crush the growing powers of the Marathas.As these people were very
strong and courageous and they also did not accept the over lordship of the ruler.This empire
was also very vast and prosperous,so Aurangzeb wanted to have it under his control.

2.Ahmad Shah Abdail invaded India several times between 1747 and 1767.He gave a crushing
defeat to the Marathas in 1761 in the third Battle of Panipat.The Marathas could not regain their
past power ever again.
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CHAPTER 5. Heat

Check Point 1
1, (a) cal (b) mercury (c) 32°F; 212°F

it Rk of fow of heat is from higher temperature to g
Jower temperature.
(b) Yes, heat energy can be transformed into other forms of energy,

9. (@)

Check Point 2
1. (a) rises (b) expand; contract (c) Heat

9, (a) The process of expansion of a substance on supplying heat
energy to it 1 called thermal expansion.

(b) Yes, combustion 1s a chemical change because it releases a
large amount of heat and light.

Check Point 3
1, Stainless steel is a good conductor of heat. Hence, the spoon
easily draws heat from hot soup and becomes hot.

2, Copper and silver are conductors of heat.
Plastic and wood are insulators of heat.

3. Water is a poor conductor of heat.
49



Check Point 4

1. solids 2. daytime 8. land breez¢ 4. upwards; downwgyq,

Check Point 5 = it
1. vacuum 2. absorber 3. heat radiation 4. er 5, blacy
(13 N o1 "
¢t 2. Temperature: 32°F; 212°F 3. Mercu,.y

A. 1. expand: contrac
4. warmer; large air pockets i
o # Bta;l (03" %elsius scale

. 1. Temperature 2. Thermometer < " '
: 1 'Il‘:su?:tor or bad conductor of heat. 5. Conductlc‘mt. 6. Radiatj,,
C. 1. Heat: Heat is a form of energy which ca;lses g S?twtn of warmgy
or cold to an object. If an object gets heat energy, Its temperatyy,
rises and it becomes warm. L "

2. Thermal expansion: Increase in 81z
is known as thermal expansion.

3. Conduction: Conduction is the process of heat transfer from
hotter end to the colder end of a solid, without any visible
movement of material particles of the solid substance.

4. Convection: Convection is the method of heat transfer in which
medium particles actually move to the heat source, receive heat
and move away from it.

‘D. 1. Heat is the form of energy which causes sensation of
hotness to an object. Its SI unit is joule.

Temperature of an object is a measure of its degree of
hotness or coldness. Its SI unit is kelvin.

2. Conductors are those materials which allow flow of heat through
them easily. Metals and their alloys are good conductors of heat.

Insulators are those materials which do not allow flow of heat

through the i e Y
insulagl;Ors, m easily. Wood, glass, plastic, liquids and gases are

5. convection 6. bad (or poor)

e of a substance on heating

0 i

; ga:;f:? %rf:;oﬁ?t: of heat | 1. It is the proces

colder end of a :!i,end to|  transfer in which medium

without any actuali st.;a};)‘?e particles actually move to the

movement of particleév;;ltﬂ: : l;eat source, receive heat and
- ove away from it.

n takes place in | o e
Placein | 2. Convection takes place in

__liquids and gases.

===




Thermal absorber Thermal reflector

The substance which absorbs | The substance which reflect

‘e h reflects
the heat incident on it and the heat incident on it is called
does not reflect heat is called | heat reflector -

heat absorber.

_ Three main effects of heat are as follows:
(a) Temperature of a substance rises on receiving heat.
(b) A substance expands on heating,
(c) Heat may cause change in the state of a substance.
. The common mercury thermometer consists of a fine glass
capillary tube having a uniform fine bore. A thin glass bulb,
filled with pure mercury, is provided at one end of the tube.
The other end of the tube is sealed after removing air from it.
The capillary tube is protected by a thick glass tube called stem.
Markings called graduations or degrees are made on the stem
to note the temperature.
. For graduating a laboratory thermometer, we mark two fixed
points. First, the bulb of the thermometer is immersed into ice.

When mercury level in the thermometer becomes steady, we mark
the point as 0°C. This is known as lower fixed point or ice point.
Now, the bulb of the thermometer is kept in steam above boiling
water taken in a flask. When mercury level becomes steady, we
mark it as 100°C. This is known as upper fixed point or steam
point. Finally, the space between two fixed points is divided into
100 equal parts and each part is called 1°C.
. The process of expansion of a substance on supplying heat energy
“to it is called thermal expansion, e.g., telephone transmission
cables sag between two poles during summer on account of
thermal expansion.

Materials which allow the heat energy to pass easily through

them are called good conductors of heat, e.g., all metals like

copper, silver, etc.

The three applications of heat conductors are as follows:

(a) Cooking utensils are made up of conductors like copper and
aluminium which easily transfer heat from heat source to
the food being cooked. .

(b) Cpnductors like copper are used to make cooling coils of
air f!onditic;m_ers and refrigerators and tubing of automobile
radiators,

o) S::ductom are used to make the base of electric irons, solar
¥ ting pipes and boilers used in power houses and factories.

-



4 23)}}1) vtntlce cube wrapped in a wire gauge in a test tube fi])oq

ater. Heat the mouth of the test tube over a burner. We

find that water near the surface starts boiling but ice cube 4

the bottom of the test tube does not melt. It shows that thepe i

no conduction of heat through water. In other words, watey 1S
bad conductor of heat.

8. Three important applications of thermal insul
life are as follows:

(a) Handles of cooking utensils are
like plastic or wood.

(b) We wear insulating woolle
ourselves from cold.

(¢) Insulating hand gloves are used to take
oven.

9. Take a round bottomed fla
three-fourths with water. Drop few mustard
seeds (or a crystal of potassium permanganate)
into the flask. Heat the flask using a burner.
Observe the pattern of movement of musta.rd
seeds. The hotter seeds become lighter and rise
up while colder ones move down to take their
place. Thus, a circulatory movement is set up
which creates continuous currents. This rise and fall of mustard
seeds is the pattern of convection currents formed in liquids.

10. Two important applications of thermal convection are given
below:

ators from dai]y
made up of insulating Mmateriy|
n clothes during winter to protect

a hot dish out of g

(a) In coastal areas, temperature remains moderate due to land
breeze and sea breeze formed by convection currents.

(b) In factories, the smoke and hot gases, being lighter, rise up
and escape out through chimneys.

11. Take identical cans. Paint one can black and the other white. Fill
bgth the cans with boiling water. Take two thermometers and
dip them in boiling water. Observe the readings of thermometers
after few minutes. We find the thermometer reading in black
can less than the thermometer in white can. This is because
temperature of water in black can falls more quickly than 1n

the white can as black can radiates more heat. This shows that
a black surface is a better radiator of heat.

12. H - . i . ) :
mg:ﬁofc:lr::lnsfer In a thermos flask is minimised by following

F s

;_““' -'(a) i tee double-walled glass container with vacuul

B



sl

in between. 3 vac
s The vacuum pPrevents heat t '
conduction and convection | gl

(b) The outer surface of the inner W
wall of the thermos flask
transfer by radiation.

(c) Insulating padding between thermos flask
as well as insulating stopper also hely

' all and inney surface of outer
are o '3 :
are silvered so ag to minimise heat

and its container
Ip in preventing heat

transfer.

1. True

2. False; The body temperature of a healthy person is 37°C.

3. True

4. False; Heat coming from the sun travels to us by radiation.

5. True

6. False; Metals are good conductors of heat,

7. False; The bottom parts of cooking utensils are blackened.

8. True

9. True

—() 2.—(e) 3.—(a) 4.—(b) 5.—(f) 6.—(d)

1. Rubber: Rubber is a heat insulator while all others are
conductors of heat.

9. Platinum: Platinum is a conductor of heat while all other
substances are heat insulators.

3. Thermal expansion: All other terms denote change of physical
state of a matter but thermal expansion has nothing to do with
change of state.

1. Mercury is used as a thermometric liquid due to the following

2. Cooking utensils are made of metals so that t

3

4. Two thin blankets taken together are warmer

reasons:

(a) It is a good conductor of heat.

(b) It is an opaque and shining liquid and can be easily seen.

(¢) It does not stick to the glass capillary tube in thermometer.

(d) Its freezing point is —39°C and boiling point is 357°C. So, the

range of a mercury thermometer is quite large.

hey easily transfer
heat from burner to food being cooked. But, handles of cooking
utensils are invariably of an insulating material so that we can
easily hold the utensils with our hands.

. We wear woollen clothes in winter because woollen yarn has
trapped air pockets. As air is a bad conductor of heat, it does

not allow body heat to flow outwards. Hence, we feel warm.
than a single






L. (@)

Cork stopper (l)) Capillary A

tube ,] {110
& | 100 (Upper fixed point)
8
4+ | 90
Plastic case i
Stem - LR a0
Outer side of £ 70 -
| £ | he
i Aali e Inner wall silvered 1P :EE Each division
outer wall silvered _:]isldﬂ b -:E:- represents 1°c
- Vacuum F 0 : <t
between walls i Eod
£ 30
lzo
- Felt pads »
Shock absorber - 8 § l
=+ 0 (L fi i
Mercury —k (Lower fixed point)
Bulb
A thermos flask

A mercury thermometer
THINK ZONE

® The greenhouse effect is caused by greenhouse gases present in
earth’s atmosphere. These gases trap heat and reradiate it back

to the earth surface. As a result, the temperature of the earth
1s increased and it causes global warming,

® The smoke and hot gases, being lighter, rise up and escape

out through chimney. So, a taller chimney is preferred for a
brick kiln.



CHAPTER 7. Electricity and Magnetism

Check Point 1
1. (a) repel; attract (b) Repulsion (c) temporary (d) electromagne
9. (a) A magnet aligns itself 1 north-south direction. The enq ,f

the bar magnet pointing towards north is north pole and the
one which is pointing towards south is south pole.

(b) Two poles of a magnet cannot be separated by any means
L.e., magnetic poles exist in pairs only.
(c) Soft iron is used as the core in an electromagnet.
Check Point 2
1. (a) ampere (b) negative; positive (c) conductor; insulator
2. Leather, air and kerosene are insulators.
Check Point 3
1. (a) closed (b) Copper or aluminium (c) resistance

2.(a) —ww— | _W;'”_

Fixed resistor Variable resistor

(b) Current cannot flow through an open cireuit.
AN




- e 12 O
Al AL

; -

3@ north-south 2. electromagnet 8. number of turns: current
g. chemical energy 5. battery 6. parallel 7. ON 8. insulator
. Magnetism 2. Electromagnet 3. Electrie coll
4. Button cell 5.Resistor 6. Electric current 7. Switch
8. Parallel circuit
G 1. ‘Magnetic pole: The two gnds of a magnet, where the attractive
~ property of the magnet is maximum are called its magnetic
‘ '-'pﬁlea. '
2. Electromagnet: A coil with a soft iron core which behaves as
:, F magnet on passing electric current through it is called an
* electromagnet.
h’w of magnetism: The law of magnetism states that like
- magnetic poles repel each other and unlike magnetic poles attract
‘each other.
battery: A combination of two or more electric cells is called

“'ula.tor' An electnc msulahor 1s a matenal which

1t




1. These are the materials
which easily allow the flow
of electric current through
them.

_ These are the Materjy)

which do not allow ¢, i
of electric current thy,, ,Uw
them. gh

2. Metals and their alloys are
good conductors of electricity.

~ Nonmetals, liquids and ‘
|

gases are insulators (bad
conductors) of e]e('tl‘icitv

= \ |
Parallel circuit

~ Series circuit
1. All appliances are
connected in series to the

battery/mains supply.

1. All appliances arem
in parallel among themse]yeg
as well as parallel to g,
battery or mains supply.

2. All the electrical apm
work independently.

3. If one appliance goes out
of order, other appliances
continue working.

4. Same voltage is available to
each appliance.

9. All the electrical appliances
work simultaneously.

3. If one appliance goes out
of order, other appliances
too stop working.

4. Different appliances share
the applied voltage.
E. 1. The three important properties of a magnet are as follows:
(a) The magnetic force of a magnet is maximum at poles.
(b) Magnetic poles of a magnet exist in pairs only.
(¢) A freely suspended bar magnet always aligns itself in
north-south direction.

2. Take two bar magnets and
mark their north and south
poles. Suspend one magnet
with a piece of thread from
a wooden stand or a rigid
support. Let the suspended
magnet come to rest.

(a) Hold the second magnet
in your hand and bring its north pole (N) near the north pole
) (N) of the suspended magnet as shown in the figure.
gobse:;ation: The north pole of the suspended magnet moves away
m the north pole of the magnet in your hand, i.e., it is repelled

(b) Remove the magnet from your hand. Allow the suspended
to rest. Then, bring the north pole (N) of second
the south pole (S) of the suspended magnet.

RO




- o~ . H - m . 0
Observation: The south pole of the suspended m
towards the north pole of the magnet in h
poles are attracting each other,

agnet moves
and, 1e., the two

It shows that like magnetic poles repel but unlike mag

netic
poles attract each other.

3. The strength of the magnetic field due to a current-carrying
depends on factors as explained below:

(a) Current passing through the conductor: The strength
of the magnetic field (B) is directly proportional to the
current (/) passing through the conductor, i.e.,

Bo [
(b) Distance from the conductor: The strength of the magnetic

field (B) is inversely proportional to the distance (r) from the
conductor, 1.e.,

coll

Bocl
r

4. The three important applications of electromagnets are as follows:
(a) Strong electromagnets are applied to separate iron articles
from household waste collected by municipal corporations.
(b) Electromagnets are applied by doctors in hospitals to remove
bits of iron embedded in sensitive organs like the eye.
" (c) Strong electromagnets are used in cranes to lift and transfer
iron and steel articles from one place to another.

5. The flow of electric charge per unit time is called electric current.
The SI unit of electric current is ampere.

6. Two important sources of electricity are as follows:
(a) Cell and battery (b) Mains supply

7. Prepare a circuit by connecting a bulb to a cell (or a battery)
through a switch arrangement. When the switch is closed, current
flows and the bulb glows. However, as soon as the switch is
opened, the bulb stops glowing. It shows that complete circuit
18 compulsory for a bulb to glow.

()

\ 1/

st

177
NN

Y

L~/'.__1:||-_- 3 H =
() Open circuit (b) Closed circuit




8. .FOIIOVYing conditions should be fulfilled for flow of electric o,
In a circuit: © Clrrep,
(a) The electric circuit should be complete.

(b) The switch (or key) should be in ‘ON’ mode so that circuit js closeq
(c) Each part of a circuit should be a conductor. 2

9. A dry cell consists of a carbon rod with a brass cap inSerted
into a mixture of manganese dioxide and carbon powder tak,,
in a small muslin bag. The muslin bag is placed inside a z,,
container and the intervening gap is filled Wit},‘ moist paste of
ammonium chloride and gelatin. The zinc container is placed iy

a leakproof cardboard cover and the top is sealed with pitch,
Brass cap

Pitch seal

Positive terminal

“ |} — Zinc container

Powdered carbon +

Manganese dioxide ~ ] | |— Leakproof cover

(cardboard)

_H— Ammonium

Carbon rod —
; chloride paste

e  Negative terminal

A dry cell
When the cell is connected to an electric device, chemical reactions

take place in the cell and an electric current is produced. The
carbon rod behaves as positive terminal and zinc vessel as the
negative terminal. A dry cell gives a voltage of 1.5 V.

10. A special type of the cell which directly converts the light and
heat energy received from the sun into electricity is called the

solar cell.
11. (@) —HHF— & —()
(c) —AAMAN—— 7
Fixed resistor Variable resistor
12. The simple electric cireuit in series shows following features:
(a) All the electrical appliances work simultaneously.
(b) If one of the appliances goes out of order, the other appliances
too stop working.

(c) Different appliances share the applied voltage and hénce,
none of the appliances work to its proper capacity.




F. 1. True

9. True

g, True

4. True

5. False: An electromagnet is based on magnetic effect of electric
current.

6. False: The electrolyte used in a dry cell is moist paste of
ammonium chloride.

7. False: All gases behave as electrical insulators.

8. True

9. True

10. False: In parallel circuit, if one device is faulty, then all other
devices continue working. (or In series circuit, if one device
is faulty, then all other devices also stop working).

G. 1.-(d) 2.—(e) 3.—(a) 4.—b) 5.—() 6.—()
H.1. Electric cell; It is a source of electricity, all others work by
consuming electricity.
9. Plant cell; It is a unit of a plant body. all others are sources of
electricity.
3. Silver; It is a conductor of electricity, all others are insulators
of electricity.
4. Glass; It is an insulator, all others are conductors of electricity.
I. 1. Magnetic attraction is possible between a magnet and a magnetic
substance even if it is not a magnet. However, magnetic repulsion
is possible only between the like poles of two magnets. Hence,
magnetic repulsion is a sure test of magnetism.
9. An electromagnet is a coil with a soft iron core. It behaves as
a magnet when electric current is passed through the coil. But,
when electric current flowing through its coil 1is stopped, the
electromagnet loses its magnetism.
3. When the switch is in ‘OFF mode, the electric circuit breaks
and the flow of electric current stops in the circuit.
4. The current going through series circuits is smaller because two
bulbs in series have a higher resistance than a single bulb.
As we know, higher the resistance, lower is the current. So, due
t‘°.h18h resistance in series, the current will be low and the bulbs
; will not glow brightly.
$ I“ parallel circuit, each electrical appliance works independently.
Wo:ﬁ.; of the appliances goes out of order, ot-hers coptinue
orking and same voltage is available to all electrical appliances.

e terefore, only parallel circuits are employed in our houses.

1
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